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B.A. (HONOURS) ECONOMICS
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BECC-109 : INTERMEDIATE
MACROECONOMICS-II

Time : 3 hours Maximum Marks : 100

Note: Answer questions from all the sections as per

instructions.

SECTION A

Answer any two questions from this section in about

500 words each : 2%x20=40

1. Explain the portfolio balance approach with the

help of trade-off between risk and return.

2. Bring out the important features of the Solow

model. What are its implications ?
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3. Describe the major features of business
cycles. What are the different phases of a

business cycle ?

4. Give a brief outline of the classical theory of
macroeconomics. Explain why the classical
economists ruled out the possibility of

unemployment in an economy.
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SECTION B

Answer any four questions from this section in about
250 words each : 4x12=48

5. Bring out the important issues on which there is
a disagreement between the Classical economists
and Keynesian economists.

6. Briefly describe the dynamic stochastic general
equilibrium model.

7. Discuss the Taylor Rule on interest rate
determination.

8. Discuss in brief the Baumol-Tobin model of
transaction demand for money.

9. For a consumer having income Y; and Yy, and
consumption C; and Cy, draw the inter-temporal
budget constraint. Prepare a table to show the

alternative consumption levels available to him.

10. Explain why the equilibrium condition in the
Harrod-Domar model is called as the knife-edge
problem.

11. Explain the condition required to attain the
golden rule level of capital stock.
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SECTION C

12. Write short notes on any fwo of the following in
about 100 words each : 2x6=12

(a) Innovation Theory of Business Cycles
(b) Kuznets Puzzle
(¢) Monetarism

(d) Tobin’s ‘q’ Theory
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3. AR Tshi hl GE&I fIRINarsti s guiH hifvT | Th
IR sk o TS =01 41 & ?
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